vormen en nog meer vormen

A-B=0geeft A=00of B=0

-6x-16=0
x=-8)x+2)=0
x—8=00ofx+2=0
x=8ofx=-2

A%? = B% geeft A=B of A=-B

2x+4)? = (x-3)?
2x+4=x-3of 2x+4=—-(x—-3)
x==Tof 2x+4=-x+3

x=-=T7of 3x=-1

1

x=-7ofx=-3

A-B=A-C geeft A=0VB=C

x+DH)V2x-4=x-3)x+4)
x+4=00fV2x—4=x-3
x=—-4of 2x—4 = (x-3)?
x=-4of2x—4=x>-6x+9
x=—-4ofx>-8x+13=0
x=—4of(x—4)?-16+13=0
x=—4of(x-4)>-3=0
x=-4of(x—4)?=3
x=—4ofx=4—\/§(v.n.) of x=4+3
x=-4ofx=4+3

A-B=Ageeft A=0VB=1

2x(x> —4x+1) = 2x
2x=00ofx* —4x+1=1
x=00fx*—4x=0
x=0of x(x? =4)=0
x=0ofx=-20fx=2

é:O geeft A =0
B

2x-3 B
=33 +22—x+1
2x-3=0
2x=3

_ 11
X—lz

0

%: C geeft A=BC

=x+3

X—
x—-Dx+3)=2

2 +2x-3=2

K +2x-5=0
x+1)2?-1-5=0
x=-1-vV6o0ofx=-1+V6




é=é geeft A=0of B=C 2x—5=2x—5

B C x2 -1 dx + 1
2x—5=00fx2—1=4dx+1
2x=50fx>—4x-2=0
x=230f (x=22?-6=0
x=2%ofx=2—\/gofx=2+\/6

ézg geeft AD = BC x—4=x+2

B D x—-1 x-3
(x—4)(x—3)=(x—1)(x+2)
P -Tx+12=x>+x-2
—-8x=-14

3

X=IZ

ézg geeft A =C ax+1 - x—1

B B X —6x3+2x2 X —6x3+242

dx+1=x-1




